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PART- 'A' (Elements of Business) 

(The services of wholesalers are not meant?)  

 (A) QqVdj O;kikfj;ksa ds fy, (For Retailers)  

 (B) mRikndksa ds fy, (For Producers) 

 (C) miHkksDrkvksa ds fy, (For Consumers) 

 (D) buesa ls dksbZ ugha (None of these) 

(The cost of goods in supermarket is) :  

 (A) de (Low)   (B) vR;f/kd (Highest) 

 (C) lkekU; (Reasonable) (D) buesa ls dksbZ ugha (None of these) 



(In which economic activity income is earned by satisfying the 

employer?)  

 (A) O;olk; (Business)   (B) jkstxkj (Employment) 

 (C) is'kk (Profession)   (D) O;kikj (Trade) 

(Which point is not related with the role of profit in business?)  

 (A) yEcs le; rd thfor jgus ds fy, (Long survival)  

 (B) jkstxkj miyC/k djuk (Employment generation) 

 (C) vfr 'kh?kz fodkl ds fy, (Rapid growth) 

 (D) dq'kyrk of̀) ds fy, (Skill development) 

("Risk may be defined as uncertainty in regard to cost loss or 

damage." This statement is of):   

 (A) gohyj (Wheeler)  (B) Mªdj (Drucker) 

 (C) gkMsZ (Hardy)   (D) esgrk (Mehta) 

(Business is) :

 (A) dyk (Art)   (B) foKku (Science) 

 (C) nksuksa (Both)   (D) buesa ls dksbZ ugha (None of these) 

(In which type of economic activity income is earned through 

people?)  

 (A) O;olk; (Business)  (B) is'kk (Profession) 

 (C) jkstxkj (Employment) (D) bueas ls dksbZ ugha (None of these) 



(A retailer sells goods to) :  

 (A) miHkksDrkvksa dk (Consumers) (B) mRikndksa dk (Producers) 

 (C) Fkksd O;kikfj;ksa dk (Wholesalers) 

 (D) ljdkj dk (Government) 

(First consumer co-operative store was established in?)  

 (A) 1947  (B) 1857  (C) 1844  (D) 1844  

(In which of the following countries did departmental stores 

originate?)  

 (A) Ýkal (France)   (B) baXyS.M (England) 

 (C) vesfjdk (America)  (D) tkiku (Japan) 

(Railway bilty is a instrument) :  

 (A) iw.kZ fofue; (Completely Negotiable )  

 (B) fofue; lk/; (Negotiable) 

 (C) vnZ~/k fofue; (Semi Negotiable) 

 (D) vfofue; lk/; (Non Negotiable) 

(The action of every business must be determined and planned. It is 

not proper to do any work in a chaolic manner". This statement is) :  

 (A) ,MoMZ cSuFkksy dk (Edward Benthol)  

 (B) ,eM fLeFk dk (Adam Smith) 



 (C) vYÝsM ek'kZy dk (Alfred Marshal) 

 (D) ts0ds0 esgrk dk (J.K. Mehta) 

(Which of the broad categories of industries covers oil refinery and 

sugar mills) :  

 (A) izkFkfed (Primary)   (B) f}rh;d (Secondary) 

 (C) rr̀h;d (Tertiary)  (D) buesa ls dksbZ ugha (None of these) 

("Who is called a share selling agent") :  

 (A) uhykeh ,tasV (Auction agent)  (B) vfHkxksid (Undercover) 

 (C) nyky (Broker)   (D) vkf<+fr;k (Arhtiya) 

(Which of these is the business activity) :  

 (A) eky dk Ø;&foØ; djuk (Purchase- sale of goods)  

 (B) eafnj esa iwtk djuk (Worship in the Temple) 

 (C) xzkgdksa ds lkFk /kks[kk djuk (Fraud with the customers) 

 (D) ljlksa ds rsy eas feykoV djuk (Adulteration in the mustard oil) 

 

(What is the main objective of Advertisement") :  

 (A) foØ; o`f) djuk (Increase in sale)  

 (B) foØsrkvksa dks lgk;rk nsuk (Supporting sellers) 

 (C) ykHk eassa of̀) djuk (Increase in profit) 

 (D) buesa ls lHkh (All of these) 



("Business like weather is with use every day" who said this out of 

the following) :  

 (A) gSus (Haney)    (B) ek'kZy (Marshal) 

 (C) ckVyhckW; (Batlibai) (D) ghyj (Wheeler) 

(Letter received in reply to the enquiry letter is called) :  

 (A) fu[kZ i= (Quotation Letter)  (B) vkns'k i= (Order Letter) 

 (C) lwpuk i= (Information Letter)  

 (D) O;kikfjd i= (Business Letter) 

(Which type of the business risk is the following chance of loss due to 

dishonesty of employee?) :  

 (A) ljdkjh uhfr;k¡ (Government policy)  (B) ekuoh; (Human) 

 (C) vkfFkZd (Economic)    (D) izkd`frd (Natural) 

(Where was the first super bazar started in India?) :  

 (A) dksydkrk esa (In Kolkata)  (B) eqEcbZ esa (In Mumbai) 

 (C) ubZ fnYyh eas (In New Delhi) (D) psUubZ esasa (In Chennai) 

(In which country did the multiple shop first start) :  

 (A) vesfjdk (America)    (B) Hkkjr (India) 

 (C) tkiku (Japan)   (D) Ýkal (France) 



(Chamber of commerce and industries safeguard the interest of __) :  

 (A) O;olk; (Business)  

 (B) O;olk; ,oa O;olk;h (Business and Businessmen) 

 (C) QqVdj O;kikjh (Retailer) 

 (D) buesa ls lHkh (All of these) 

(Risk is the result of _____________?) :  

 (A) fuf'prrk (Certainties)  

 (B) vfuf'prrk (Uncertainties) 

 (C) mijksDr nksuksa (Both) 

 (D) buesa ls dksbZ ugha (None of these) 

(Provides financial support to products?) :  

 (A) Fkksd O;kikjh (Wholesaler)  

 (B) QqVdj O;kikjh (Retailer) 

 (C) xzkgd (Customer) 

 (D) buesa ls dksbZ ugha (None of these) 

(The owner of warehouse is) :  

 (A) ,dkdh O;fDr (Individual)  (B) QeZ (Firm) 

 (C) dEiuh (Company)  (D) mijksDr lHkh (All of these) 

(Door to door or godwon to godwon facility is provided by) :  

 (A) jsy ifjogu (Rail Transport)  



 (B) ok;q ifjogu (Air Transport) 

 (C) lM+d ifjogu (Road Transport) 

 (D) buesa ls dksbZ ugha (None of these) 

(Which of the following storage houses are most popular in rural 

areas?) :  

 (A) cU/kd Hk.Mkjxg̀ (Bonded warehouse)  

 (B) [kfŸk;k¡ vFkok dksBs (Khattis or Kothas) 

 (C) 'khr Hk.Mkjx`g (Cold storage) 

 (D) ljdkjh Hk.Mkjxg̀ (Government warehouse) 

(When did the first train run is India?) :  

 (A) 1950  (B) 1850  (C) 1853  (D) 1757 

(The period of fire Insurance is) :  

 (A) ,d o"kZ (One year)   (B) nks o"kZ (Two year) 

 (C) rhu o"kZ (Three year) (D) vlhfer vof/k (Unlimited period) 

(Name the type of business risk caused due to change in season?) :  

 (A) ekuoh; (Human)    (B) izkd`frd (Natural) 

 (C) vkfFkZd (Economic)    (D) ljdkjh uhfr;k¡ (Government policies) 

(Invoice is prepared) :  

 (A) Øsrk }kjk (By purchaser)   (B) foØsrk }kjk (By seller) 

 (C) mRiknd }kjk (By Producer)  (D) miHkksDrk }kjk (By consumers) 



(Double insurance of o one property is known as) :  

 (A) iquchZek (Re-insurance)  (B) nksgjk chek (Double Insurance) 

 (C) nksuksaa (Both)   (D) buesa ls dksbZ ugha (None of these) 

(More useful for cold storage) :  

 (A) rS;kj eky (Finished goods)  (B) dPps eky (Raw material) 

 (C) 'kh?kz uk'koku oLrq,¡ (Perishable goods)  

 (D) bueas ls dksbZ ugha (None of these) 

(The essential for getting success in business is) :  

 (A) iw¡th (Capital)  

 (B) dq'ky O;olkf;d laxBu (Efficient Business Organisation) 

 (C) ;a= (Machinery)   (D) bZekunkjh (Honesty) 

(It is given factor) :  

 (A) deh'ku (Commission)  

 (B) osru (Salary) 

 (C) etnwjh (Wages) 

 (D) buesa ls lHkh (All of these) 

(Give more emphasis on consumer satisfaction) :  

 (A) mRiknd (Producer)  

 (B) QqVdj O;kikjh (Retailer) 

 (C) Fkksd O;kikjh (Wholesaler) 

 (D) Qsjh okys O;kikjh (Hauker) 



(Which of the price of automatic machine for sale) :  

 (A) dkj (Car)    (B) flxjsV (Cigarette) 

 (C) e'khu (Machine)  (D) buesa ls dksbZ ugha (None of these) 

(What are the things to be mentioned in sales statements)? :  

 (A) ,tsaV dk deh'ku (Agent commission)  

 (B) ,tasV ds gLrk{kj (Agents signature) 

 (C) eky cspus okys ,tsaV dk uke o irk (The name of address of the  

  agent selling the goods) 

 (D) buesa ls lHkh (All of these) 

(Bata shoes company is a) :  

 (A) foHkkxh; Hk.Mkj (Department store)  

 (B) miHkksDrk lgdkjh Hk.Mkj (Consumer co-operative store) 

 (C) J`a[kykc) nqdkusa (Chain shop's) 

 (D) buesa ls dksbZ ugha (None of these) 

(Which agent is appointed to sell goods by roaming in different 

cities?) :  

 (A) Ø; ,tsaV (Purchaser agent)  

 (B) foØ; ,tsaV (Sales agent) 

 (C) deh'ku ,tasV (commission agent) 

 (D) ;k=h ,tasV (Travel agent) 


